NXnowa "7 'on 2,7 naw .7"0a

It is understandable according to — 17 TIPS Tom3 NIV 125 NRbwa
SNTY 33, for he maintains that walking is similar to standing

OVERVIEW

>XIY 12 maintains that if one carries from a (W5 2Pn) N9 717 7"7% 2", he
1s Mwd. The reason the XM gives for this ruling is that X1V j2 maintains that
M7 7AW 127, that when a person walks, each time he places his foot on the
ground it is to be considered as if he stopped walking and stood still. Therefore
it is considered as if he made an °"772 7Py and a noHn122 7m0, etc. and
therefore he is Mw>.

This novel concept, while it explains s"X1¥ 72 ruling, seems to be in direct
contradiction with the accepted ruling that a 21 7"772 R"7 2avn. If 90 7900
"»7, then there was no carrying of the object continuously for mnX '7, since at
each step there is a nmi which signifies an end to the previous 77py." Our
mooIn explains why the X723 did not use a different explanation for s"Xv 32
ruling, which would also help to avoid this contradiction.

nooIN asks:

— NPV SNNY TP N9 PN 199299 NYPp

The 5" asks: why is it necessary for the X773 to give this explanation, i.e. that
M7 MY 20, for us to understand "Rty 12 ruling -

— 19399 NAYY INNN AT 2NHT NIN) NN JNIUN KY INIY )25 XYY N1*Y

The X773 should say instead; that the ruling of >Xt¥ 32 is understandable, since

we do not find (in the 10w») something comparable to being X°X through an

exempt area where he is 3°°11. The same question which the X712 asks on the

7139, who say 2°°17 100 717 XR*0797 M XX, on which the X mx asks why is he 21, we do

not seem to find a precedent for this; let us use this same point as a justification why *X1¥ 12

says that he is M5, and we will not have to say such a w17°n that "»7 729> 727%, which may
cause a difficulty, as moo1n will shortly state.

Moo responds to an anticipated solution to his question:
— NAYL INN MNP 2‘.7‘11?2 7997 ©IVN ONT

! See footnote # 4.
% See the xn™3 (and 711> ") on R,.
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for if you will say that since X1y 72 agrees with the 0°»0n that he is 217 in the

case of 100 777 XUYDY MM P, therefore we cannot attribute the reason of JIIWR XY
2T X1 ORAD to X1V 13, for then why is 21 P11, This seemingly forces us to say that the
reason of *RI¥ 12 is "n7 7MW T2n, which explains the difference between X°xwan and P
however this is not a sufficient explanation why the X% assumes that ¥"2 maintains 7271
"7 TV as opposed to 21NT "D JOWR KD —

— P DNT YT NXY SNIN N1
For at this point the X713 did not yet know that "X1v 12 agrees that P97 is 2»n.

mooIn demonstrates that when the XX states 121 73279 XPX "1 ¥"2% Rabwa, at that point the
X713 was unaware that ¥"2 distinguishes between 727 and PO

— 5919 JNIYN KD VIUN PN INIY 129 903 719 Y19 INT
For if at this point the X713 knew that “X7¥ 12 agrees that 121 P77 is 2°°17, the X3
should also ask on X1y 32 the same question that it asks on the 73127. How can 32
RIY maintain concerning ¥ 21 737 from a 1o 17 X°v25% Nan, that he is 2,
‘where do we find, etc.” Since the X »3 asks only on the 13127 and not on X1y 73, this
proves that at this juncture, the X723 was unaware that *X1¥ 72 differentiated between X*¥1 and
P77; rather we assume that he is always 7105. The question then remains, at this juncture what

forced the X3 to assume that XTY 72 maintains “n7 722 7771, when we could say that he is
111, because there is no precedence that N3 (MWD MP) TIT ML MW XXM is 0.

N1v0IN answers:
— 9INP Y917 PNYS 13529 XM
The ''9 answers that this is what the X771 meant when it said that s"X1¥ 12 reason is
because he maintains 17 722 7277 -
= *514 112995 79017 MV J9WNI NINY NN NNIYN ITON INTY 139 NnYWA
It is understandable why according to >Xt¥ 32 he is 1o, for even if you can

? See “Thinking it over’ # 1.

* Mmoo answer may be understood as follows. The X3 is aware that the 7327 are 27 in the case of N XXM
10D 17 X°190Y, therefore the X3 assumes that the 1121 have a precedent for such a X7 (even though the X3
does not presently know what that precedent is). The X723 also assumes that “XT¥ 72 may be well aware of this
precedent, and since nevertheless he maintains that the XX is 7109, that gives us sufficient reason to assume that
RIY 12 maintains °n7 72195 7271, and therefore even when we will find the precedence which causes the 1121 to
maintain he is 2’11, nevertheless, we will still understand why *X1v 12 is 7. If however the X723 were to explain
X1V 12 the way n1ooIn suggested (that we do not find such a 7R¥Y7), then eventually if we were to find a
precedent, we would be forced to find an alternative explanation for °X1v 72, therefore the X3 chose the
explanation that would be valid in the eventuality that we would find a precedent for the j127.
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find a similar case in the jow», where something was transferred from one
mwA to another through a (75 DIpn) N1, nevertheless X1y 12 will maintain
that he is "1 because 27 TR Tomm -

— 5919 JNIYN NN AYPN 19299 NN
However, according to the 3129 there is a difficulty, namely, where do we
find that in such an instance etc., he is 2.

mooIn cites a M1 which reconciles the ruling of ¥"a that *n7 w2 791 and the 75%7 of
A"792 X" Tave:’

— ODYY D290 MY MNN 7T DY 2NNN DTN PN INTY 127 NINYT JY 799 1I0YI19%2)
In the »%w17° 7150 the X713 there asks: “according to the opinion of *X1v 32
a person will never be 291 for carrying 9"'7793 NN '7 -
— 909% NINXY NNIN Y HY NNV 95 NYYIT
For it should be considered as if the object was put down at every 7»R and
he should be 712”, because he did not carry the complete X '7 without stopping -
— °N21Pa 1Y NNIWN SUN)
And the "n%212° 7m0 answers that we can find the 2117 of 2"792 Mnk "7 n12vn
if he jumped "7 707 '7 n2>nNn while holding an object, for then there is no "7 7MW 7777.
— N9 NY 2PUN XY 19T 07U
Our X%3 however, does not consider this a valid refutation of xrv 2 -
— 1Y N9) NNAYN 0290 NIV NN 714 (3,8 971mp%) PN 9INRTS
Since the X773 says in P97 279 that the 2111 for carrying 2''792 nR '7 is a
S0 R 7eh -
—"nYy nupn Y 197
And therefore the X772 asks no questions on this »"»5%7 from »7 T3 7.

mooIn discusses a similar paradox:

— 2N D90 NIV NN 7T PN T INNAY 2957 2) Y GX NIYPY 2290 NVITP 199
And similarly concerning the concept of 7w»p according to ¥''1 even though
it is considered as if it had come to rest, nevertheless when one throws nmN 't

5 See ‘Overview’.

® See o1’y 719> who sates that there is no such answer in our 5w,

7 The n"n%%: teaches us that in this instance of 7"772 MK '7 9°2v» he is 21 despite the general ruling of 77
T TIVD.
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9"792 he is 2977 -
— D390 MY TMNN 7T TN NNNNIY 299 19999NX XD
And we do not say that it should be considered as if it came to rest within the

9"792 PN "7, the reason being as just stated since 2"712 MAR '7 Pavn is a "m0, it
supersedes any other concepts including X7 Annaw *nd 701%R (and M7 7AW T20).

mooIn broadens the discussion regarding 722 7771 and 1"772 R"'7 2vn:
— MY NPODN TUN a2 PNYY 139299
The RX''2%9 is unsure of what will be the ramifications, of the fact that the »"»%%77 overrides
the concepts of "7 7212 T2in and “»7 AN *n2 7P -
— M7 TMY 10N AN NY D291 MY MNN 7727 )15
Since concerning carrying 7"772 X'"7, X1V 12 does not maintain that Tbm%
9T TRIW2; the rule is that he is 217 -
— NI 129 97 TP NNIYYAT 2) Y 9N

Even though Xty 32 maintains in general that 727n is 5%7 72195, but there is a
special dispensation when it comes to 7"772 &"7, where we disregard the concept of %11
M7 TWwd. The question therefore arises —

— INY DN VAN /T TN WIS 1 199K HINTY )35 29N DN
whether >Rty 32 would maintain that he is 25’17 even where the person stopped
to rest’ in the midst of carrying an object =& '7, or he would not be 2n."

mdoINn discusses a similar consideration:
— Y1 NN NYVIY 1112 MNN YAINY YN 1Y XY ON 1)
and a similar question would arise, if the person who carried something more

¥ According to the 7127 who argue with X1y 72, surely the 1°7 of 21 2";712 X"7 ~ayn is only if he did not stop
while traversing the "7

% A stop is considered, only when one stops to rest, if however one stops merely to adjust his load, that is not
considered stopping ¥"15%.

10 The two sides of the issue would be; do we say that since every 77mn is 72, and nevertheless he is 21 for
7"7172 MINR 7 2k, which may lead us to conclude that the n"%977 teaches us that there is no 71wd for stopping in
the midst of NX 7, and one is always 2> if he is 7"772 MK '7 7°2yn, regardless if he stopped in the middle or
not [meaning that we do not say 27 y511 nf12 1913 N, but if he would actually put down the object X"7 7102 he
would certainly be 1w». See 712X "10.]. Or do we differentiate between a conceptual stopping like 72193 7771
and a real stopping, that only in the former, does the n"n%%1 override the conceptual stopping and he is 2>n, but
in the case of a real stop or rest, however, he would be 719, since he did not carry mnX '7 continuously.
Alternatively put; does the n"n7277 a) negate the Mo of NX "7 TIN2 7771y and therefore he would be 27n; or b) it
merely negates the concept of *n7 723 7271 by 7"772 X"7 7°2vn, and therefore he would be 7.
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than X"7, did not stop outside the X'<7, and the object came to (a complete) rest not
through him; for instance that another person took the object that he was
carrying from his hand and the actual 7737 was not made by him —

— IND ON TN /1Y NN 30T 19I5 7901 199N DN
do we say that once he is outside the "7, then we say >»7 72> 997 and he

would be 2711, or not; should we would consider it as if he made a am37 as soon as he
stepped beyond the X"7, because now we could reapply the concept of "7 722 7271, since we
are outside of the original ''X"7, or do we say that the n"n%%11 teaches us that in regard to ~avn
7"1192 R"7 there is no such concept as "»7 72 207, and therefore he is My, since he did not
actually stop and thereby make the am."?

mooin discusses a similar situation regarding 7v17p:
— TN YINY NIN NNT ANNAY 5 9NN DN NPY 2299 101D 1)
And similarly we can question what would be the "7 according to ¥''9, who
maintains the concept of Xn7 annaw "> mw»p, would he say that “us 7v1op
N7 annw outside the R''7, meaning that -
— 1999N NI MINN YAIN TINT 1199 NOIVIY IN 295 IN 9NN NVHP 199N
Even if it was caught by someone else or it was caught by a dog or it was
burnt, before it landed"” he would be 115 since we do not say the concept of

X7 InNnWw D PR while the object is traversing the initial R'97, therefore we do
not say 121 2P, even after it passed the original X"7, and he would be 15 because he did
not make the 1im37, or perhaps only in the initial X"7 do we not say n?p in deference to the
n"n9%17, but once the object traveled the initial X"7, then we may reapply the concept of V2P
"9, and he will be 211, because he made the 1m37 by virtue of the 121 %P that transpired
outside the X"17.

' ' We may even accept option ‘b’ in footnote # 10, that the »"»9771 negates the concept of 7mw> T2, but only
within the confines of the original X"7. For an alternate interpretation see footnote # 12.

"2 In Summation: Do we say: a) that the »"»%%71 tells us that in the original X"7 there is no 29 of 7AW T7mn
because there is no M of 7MY at all within the X"7. Once outside the original X"7, however, we revert back to
the concept of 723 7271, Or do we say: b) that the n"n7%7 tells us that concerning 1"71172 X7 there is no concept
of n7 7mY> T7an at all. If we assume option ‘a’, then if one stops in the middle of the original R"7 he is 2
because there is no Mwd of X"72 7AW, and if he did not stop after the X"7 he is also 211, because outside the
original X"7 we do say Tmw3 T2an. If we assume option ‘b’, then if one stops in the original X"7 he is Mo,
because there is no n"»7%77 concerning actual stopping, so he did not carry consecutive X"7, and if he did not stop
outside the original X"7, he is 7109, because the 1"17717 tells us that concerning the 73871 of 1"7772 X"7 n12v7 there
is no concept of *»7 W3 7271, and in order for him to be 21 he must either actually stop or put down the
object. See NnX now.

" See “Thinking it Over” # 3
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Mmoo concludes with one more observation regarding 7212 7277:

— Doyb 9INRT 1IN 229D DNHAN 12 PYWNY 139299 AN
It seems to the R''2w=, that according to 321711° 529 who said previously -

— 9909 INIEINY DYY TN FIRY NN PSIN NI9N
One who was moving his belongings from one corner to another corner in a
*"77 without any intention of taking them out to the 7"77 and changed his mind about
them and took them out to a 7"777 he is WD -

— NV Jab Y Y

This aforementioned 317 °27 does not agree14 with XY 33, who maintains 727
M7 T

— 2590 1N T IV 79N MINT INTY 129t

for according to "Xt¥ 12 who maintains that s»7 72> 7972 he would be 21
in the aforementioned case, because whenever he changes his mind in the >"717, and decides to
take the objects out to the 1", then as he is walking in the *"77, every step is a 11317, which
nullifies the original permissible 77°Py, and as he takes the last step out of the "7 to the 7"77,
there is a new 101 NPy (following the previous 1913 NMi7), which is "7 yo1 n7°pPYd, and he is
2.

30w XX MANa) MY 1IN Y92 NOTNA NN 199
And this is also explicitly evident from what we learnt in the beginning of 75
YY1 9N, that 1am °27 does not agree with *X1v 13, concerning Bt mws o,

SUMMARY

According to °XI¥ 12, who maintains 27 7292 7277, nevertheless 1"772 X"7 %297
is 2. According to the "n?w1° 720 he is 21 only if "7 M0 731 "7 NP nnn voOp,
otherwise it is MWD "7 7MW 7271, According to the *%22 7Tm°n, the n"n%%
overrides any other concepts and he is 217 even in a regular case of X"7 772y,
There is a question as to what the 7591 would be according to *X1v j2 if one
actually stopped X"7 702, or did not stop X"7 nX?; the resolution of which, is
dependent on, in what manner the »"1n%%71 negates the concept of *n7 723 T7mn.

THINKING IT OVER

' See amr WY " Hw naw that the X"awA contends that the 7997 is not like X1y 12, thereby rendering moot the
790 of the 8"27. See ‘Thinking it over’ # 4 & # 5.

'> The xn3 there quotes this X" of 1M 27 in an attempt to refute the Xn»*pIX there; the response to remove
this refutation is that the Xn»°P X follows the opinion of *X1¥ 12 (and not of 717 *27).
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1. How are we to understand n90n original question, that the X773 should have
given an explanation for "Xy 12 which will be inconsistent'® with his ultimate
opinion?"’

2. What are the relative merits of the different sides in the X"2°7% Xpo0n?
3. Why does not mpoin ask according to ¥"7 what would be the 77 if he threw
the object and it landed within the original X"7 (and then he moved it completely

out of the original x"7),'® just as he asked according to '*>xty 12?

4. What connection can be found between the statements of the X"awn and the
X" 2%

5. The X"2wA states that 13m 21 argues with *Xiy 12.>' How is it conceivable that
"5 could agree with >ty 122

16 See footnote # 3.

' See (1"ow1 71"7) 211 P

18 See footnote # 13.

1% See omnax 10 K"ow ,[TRA] X"
20 See footnote # 14.

2 See footnote # 14.

2 See 7o "7 2,8 N1AIMNO 'oIN
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